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1 Solving the model under lockdown

In the notation that follows, variables with a superscript L denote variables pertaining to
the model under lockdown. Those without such superscripts refer to variables coming from
the baseline model without lockdown described in Section 2 of Bradley et al. (2020).

1.1 Surplus functions of the lockdown model

This section proceeds by listing and describing the value functions associated with workers
and vacancies of particular types. We then derive the corresponding surplus equations.

Retired workers

A retired worker that has recovered has value that comes from four sources. The first is
their flow benefit of retirement. The second is the value associated with death by natural
causes. The third is their value associated with the lockdown period ending, in which case
they receive the baseline value of their status. The fourth is their continuation value. The
formal representation follows

rREY =b, + x(0 — RE) + A(R, — RE) + RE

An infected retired worker faces five terms associated with their value function. In addition
to their flow benefit and continuation value, they face the value changes associated with
the possibilities of death by natural causes, death by COVID-19, recovery and the economy
leaving lockdown. The expression is given by

rRi; =by + (X +%(0)) (0 — RE) + po( Ry, — Rip) + A(Riy — Rip) + Ry;

A retired worker that is susceptible receives a flow value, continuation value, faces a possi-
bility of death and infection and the changes from the economy leaving lockdown. The value
function can be written as

rRY = b, + x(0 — RL) + Aoty (RE — RY) + A(Ry — RY) + RE.
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Recovered young workers

The value of unemployment for a young worker is comprised of six terms. The first, the flow
benefit of unemployment, is the same as in the baseline model. Their option value of finding
work is now split into two terms, capturing the two possibilities of matching with a firm
in the locked and unlocked sectors. The worker can retire at the rate n and the economy
can come out of lockdown, in which case the worker receives the value of being recovered in
the baseline model. They also receive their continuation value. The formal representation is
given below

rUL = b, + qbtﬂw//maX{Sﬁ(a, x; L), 0Yd2F (o, )

+ ¢ f(1 — 7r)//maX{STLt(a,x;U),O}dQF(a,x)
+ (R = UR) + AMUp = Up) + Uy

A recovered worker who is employed now has two separate values, depending on whether
their job is in the locked or unlocked sector. A worker with match characteristics («, z) has
contract with wage w and stipulation m € {0,1} where 1 means working away from home
and 0 means working from home. If the match is in the locked sector, then the value for
being employed is given by

rWh(w, o, 2, m; L) = w+ §(U% — Wh(w, o, z,m; L)) + n(RE — WE(w, o, z,m; L))
+v (Bmax{S}(a,,0; L), S} (c, 2, 15 L), 0} + Uf — Wh(w, o, 2 L))
+ AW, (w, a, z,m) — Whiw, o, 2, m; L)) + Wh(w, a, z,m; L)

T

where the argument L inside the parentheses signifies that the job is in the locked sector. No-
tice that, although the working arrangement regarding m can be negotiated in the contract,
a match that is locked is unable to operate away from home for the duration of the lockdown.
However, once the lockdown ends, we assume that they immediately start producing using
the contracted arrangement regarding m. A match that is unlocked has the value

rWh(w, o, 2,m; U) = w+ §(U% — Wh(w, o, z,m; U)) +n(RE — WE(w, o, z,m; U))
+v (Bmax{Sh(a,z,0;U), Sh(ev, , 15 L),0} + U5 = Wh(w, o, 2; U))
+ AW,o(w, a, z,m) — Whiw, o, 2, m; U)) + Wh(w, a, z,m; U),

where this match will involve working away from home during the lockdown when the con-
tract has m = 1.



Value of a filled vacancy with a recovered worker

The value of a filled job is affected directly by whether or not the job is locked. A locked job
has flow value that comes from home production less the wages paid to the employee. The
match will break when either the exogenous separation shock is realised, or if the worker
retires. It has option value associated with re-negotiation as well as with the economy leaving
lockdown; there is also an associated continuation value. The formal expression is given by
rdyi(w, a,z,m; L) = pa, 2,0) —w + (8 +n)(V;" — Ji(w, ,2,m; L))
+v ((1 = B)max{Sf(a,z,0; L), S(,x,1; L), 0} + Vi = Jf(w, a, z,m; L))
+ AT (w, a, 2, m) — JE(w, o, 2, m; L)) + Jﬁ(w, a,x,m; L).
where notice that V;* denotes the value of a vacancy under lockdown. A match that’s in
the unlocked sector may either be producing from home or away from home depending on
the characteristics of the match; it faces no restriction. The value function for an unlocked
match for contract stipulation m is
rdpi(w, az,m; U) = pla, z,m) —w+ (8 +n)(V,F = Ji(w, a,2,m;U))
+v (1= p)max{S);(a,z,0;U), Sfy(a, 2, 1;U),0} + V' — T (w, o, 2, m; U)
+ A(Jpe(w, a, m,m) — JE(w, o, z,m; U)) + Jﬁ(w, a,x,m;U)

where notice that the match’s output varies with m.

Surplus of a match with a recovered worker

Imposing the equilibrium free entry condition, that V;% = 0, then combining expressions for
retired workers, young workers and filled vacancy value functions gives the surplus equation

(r+0+n+v+MNSh(a,r,m;L) = p(a,z,0) — b,
~opn [ [ max(Sha.2.050). 805,15 L),0) Fa,2)
— o1 — ) //maX{Sft(a, x,0;U), S5 (o, 2,1;U),0}d? F(a, )

+vmax{S}(a,z,0; L), S}i(a, x,1; L),0}
+ AS i (a, z,m) + SE (o, 2, m; L)

where again notice that the output comes from home production irrespective of the con-
tractual choice of m € {0,1}. Then the surplus for an unlocked match with m is given



by
(r+5—|—77—|—1/+A)Sft(oz,x,m; U) =pla,z,m) — b,
—qﬁtﬁﬁ//max{bﬁ(a,z,(); L), S5 (o, 2,1; L), 0}d* F(a, )

— 4B — w)//max{s,g(a,x,o; U), S5 (a,2,1: U), 0} F (o, z)
+ vmax{S5(a, x,0;U), Sk (a, 2, 1;U),0}
+ ASi(o, z,m) + SE(a, z,m; U).

Infected young workers

An unemployed infected worker’s value function contains six terms. They receive their flow
value of unemployment and continuation value. They receive value associated with the
possibility of moving to recovered status, from dying from the virus, from retiring and from
the economy leaving the state of lockdown. The formal expression is given by

An employed worker with infection status is at home on sick pay. They produce no output
but continue to receive their contracted-upon wage; upon recovery, they return back to
production for the firm. Consequently, whether the infected worker’s match is in the locked
or unlocked sector affects their value function. A worker in the locked sector receives value
from their wage, continuation value, value associated with recovery, death, retirement, re-
negotiation and lockdown being lifted. The expression is as follows

TVVif(w, a,z; L) =w+ p, (Wft(w, a,x,1; L) — Wlf(w, a, T; L))
+ 0y (i) (0 = Wi (w, a, 25 L))
48 (UE — Whw,a,m: 1) + 5 (RE — Wh(w, .2 L)
+v (B max{S;(a,x; L), 0} + UL — WE(w, o, z; L))
+ A(Wi(w, o, ) — WE(w, o, 3 L)) + WE(w, o, ;L)

and similarly for an unlocked infected worker, the expression is

rWE(w, o, 2;U) = w + Py (Wﬁ(w,a,x, L,U) — Wk(w, a, x; U))
+ Y0y (L) (0 = Wi (w, a, 2 U))
+6 (Uig = Wig(w,a,2;0)) +n (R = Wi (w, 0, 2;U))
+ v (Bmax{S};(a,z;U),0} + Uy — Wi (w,a, 2;U))
+ AWy (w, a, x) = Wh(w, a, 2, U)) + WE(w, o, z; U).



One point to note is that the match retains its status with regard to being in the locked or
unlocked sector throughout the health status changes of the worker. That is — whatever
sector their match belonged to prior and during infection — the match will remain in that
sector subsequent to recovery.

Value of a filled vacancy with an infected worker

A firm that has an infected worker pays their wage as sick pay for the duration of their illness
in the absence of separation. The firm receives the value associated with the possibility of
the worker’s recovery and the match can be broken through either exogenous or endogenous
separation at re-negotiation, retirement or through death of the worker from the virus. The
formal expression for a match with an infected worker in a locked sector is given by

rJi%(w, a,z;L) = —w + p, (J,,Lt(w, a,x, ;L) — Jﬁ(w, a, T L))
+ (Yoy(Cir) + 6 +0) (V" = Jif (w, o, 25 L))
+ v ((1 = B) max{Sj(e,z; L),0} + V,;" — J7(w, o, x; L))
+ A(Jy(w, a,z) — JE(w, , 2; L)) + JE(w, o, 2; L)

while that in the unlocked sector is

rJE(w, o, 2;U) = —w + Py (th(w, oz, 1;U) — Jh(w, a, z; U))
+ (y0y (lie) + 0+ ) (Vi = Jit (w, , 2;0))
+ v ((1 = B)max{S} (e, z;U),0} + V,} — Jj(w, o, z; U))
+ A (w, o, ) — T2 (w, o, 2 0)) + JE (w, o, ; U)

Surplus of a match with an infected worker

The surplus can be found through using the value functions for employment, unemployment
and value of a filled job for the locked and unlocked sectors to get the surplus. Using the
equilibrium condition that the value to a vacancy is zero, the surplus for a locked match is

(r+ py + Y0y (lir) + 0+ + v+ AN)Si (e, ;L) = —by + py Sy, ;L)
+ vmax{SE(a,z; L),0} + ASy(a, z) + S (o, x; L)

while that for an unlocked match is

(r + py + 70y (it) + 6 + 1+ v+ N)Sg (e, 7;U) = =by + p, Sy (@, ;U)
+ vmax{Sk(a,z;U),0} + ASy(a, z) + S (e, 2 U).



Susceptible young workers

The value to being an unemployed susceptible worker closely resembles that of a recovered
worker, with the exception of an additional value change associated with the possibility of
infection. Their value function is given as

TUﬁ =b, + gbtﬁﬁ//max{SsLt(a,x, 0; L), Sft(oz,x, 1; L), 0}d2F(a, x)

+ ¢ (1 —W)ﬁ//maX{Sé(a,x,O; U),Sft(a,:v,1;U),O}d2F(a,a:)
+ Mot (UE — UL 4 (RE — UL + AU, — UL + UL

where notice that the rate of infection is given by A/, using the lockdown infection param-
eter that exists regardless of working decisions. A worker that is employed with contract for
wages and working arrangements (w, m) has value that differs based on the sector they work
in. When locked, the worker’s value function is given by
rWsLt<w’ Q, T, M, L) =w+ 5(Us[£ - WsLt<w7 Q, T, M, L)) + 77(R5Lt o Wi(wa Q, T, M, L))
+ Al (Wi (w, a, 2, L) — Whw, o, z, m; L))
+ v (Bmax{SL(a,x,0; L), Sh(a,x,1; L),0} + UL — Wh(w, o, z,m; L))
=+ A(Wst(w7 Q, T, TTL) o Ws[t/(u% Q, T, Mm; L)) + W£<w7 &, T, m; L)
where notice that their infection rate is the same as that of the unemployed worker given
that they are unable to work away from home. In contrast, a worker in an unlocked sector
has value functions that differ based on the contracted m. For m = 0, see that
rWE(w, o, 2,0;U) = w + 6(UL — Wh(w, a, 2,0, U)) +n(RE — WE(w, o, 2,0;U))
+ )\(’;“&t (Wlf(w, a,z,U) — WSLt(w, a,x,0; U))
+ v (Bmax{SL(a,z,0;U), S (a,x, 1;U), 0} + UL — Wh(w, a, 2,0, U))
+ AWy(w, a,z,0) = Wk(w, a,z,0;U)) + Wk(w, a,z,0;U)
and then for m =1
rWilw, a,2,1;U) = w+6(Uy = We(w,a,2,1;,0)) + n(Rg — Wi (w,a,2,1;U))
+ [)\OL + /\1} Cit (I/Vif(w,a,x, U) - Whw,a,r,1; U))
+v (Bmax{Sg(a, 2, 0;U), Sg(a, 2, 1;U), 0} + Uy = Wi(w, .2, 1;U))
+ A(Wy(w, a,z,0) = Wh(w, a,2,1;U)) + Wh(w, a, 2, 1;U)

where the distinction between the two is the higher infection rate when working away from
home.



Value of a filled vacancy with an susceptible worker

The value to a filled job with a susceptible worker in a locked industry for arbitrary contract
(w,m) is given as follows

rJE(w, o, z,m; L) = p(a, x,0) —w + (6 +n)(V;¥ = Jh(w, a, 2, m; L))
+ /\OLEZ»t (J#(w, a,x; L) — JsLt(w, o, T, m; L))
+v (1= 8) max{Sg(a,z,0; L), S5 (e, x,1; L), 0} + V,F — J(w, a, z,m; L))
+ A(Jg(w, a,m,m) — JE(w, o, z,m; L)) + jst(w, a,x,m; L).

A match that is unlocked differs based on locked status. An unlocked match with m = 0
delivers value of

rdg(w,a,2,0;U) = p(a, 2,0) —w + (6 + ) (V" = Jg(w, a,2,0;U))
+ N5l (Jﬁ(w, a,z;U) — JE(w, o, z,0; U))
+ v ((1 = B) max{S%(a,z,0;U), Si(e, z,1;U), 0} + V" — Jh(w, a, 2,0, U))
+ ATy (w, o, 2,0) — Jh(w, a, 2,0, U)) + Jo(w, v, z, 0; U).
and that for an m = 1 contract gives
rdg(w,a,2,1;U) = pla,,1) —w + (6 +n)(V' = Jg(w, a,2,1,0))
+ P‘g + Al]git (Jﬁ(w’ Q, T U) - Jslzg(u% a,x, 1; U))
+v (1= p)max{Si(a,z,0;U), Si(c, 2, 1;U),0} + V' = J5(w, o, 2,1, U))
+ A Jg(w, 0,2, 1) — Jh(w, o, 2, 1, U)) + Jst(w, a,x,1;U).
where the match now produces the higher away from home level of output, in addition to
the rate of change to infected status being higher by A;.
Surplus of a match with a susceptible worker

The surplus from a match in the locked sector for m € {0,1} is given as
(r+6+n+ Xty +v+MN)SE(a,x,m; L) = p(a, 2,0) — by
~omp [ [ max{k(a,,0:L), Sk, . 1:L).0)d*Fla,2)
— ot =6 [ [ max{Sh(a.s,0:0). Sha,0, 1), 0} F (o)

+ Mol SE (o, 2; L) + vmax{Sh(a,z,0; L), S5 (e, z,1; L), 0}
+ ASg(a,x,m) + Sﬁ(a, x,m; L).



The surplus for a match in the unlocked sector with m = 0 is
(r+6+n+ Xl + v+ A)Sg(a, 2,0;U) = p(a, x,0) — by
- (ﬁtﬂ-ﬁ / / maX{Sé(a, €, O; L)a SSIZ(OJ, €, 1; L)? 0}d2F(a7 l’)

(1 —m)B / / max{S%(a, z,0;U), S5 (e, 2, 1, U), 0}d2F (o, )
+AEGSE (2 U) + v max S5 (o, 2, 0,U), 8% (a, 2, 1,U), 0}
+ ASg(a,z,0) + SsLt(oz, z,0;U)

and that for the unlocked sector with m =1 is
(r+d+n+ (/\OL + )l + v+ A)Sﬁ(a,x, LU) =pla,x,1) — by
— ¢y 3 //max{SSLt(a, x,0; L), S5 (o, z,1; L), 0}d* F (e, )

— (1 — ﬂ)ﬂ//maX{Ssﬁ(a,x,O; U),SE(a,2,1;U),0}d* F(a, )
+ NS+ M) SE (o, 2, U) + Mty (UE — UL)

+ vmax{SE(a, x,0;U), S%(a, x,1,U), 0}

+ ASg(a, 2, 1) + SE(a, 2,1, U).

1.2 Vacant jobs

Vacant jobs get in contact with unemployed workers at a rate ¢{ . Upon contracting, the
firm receives fraction (1 — ) of the match’s generated surplus. Notice that there are four
possibilities for a given vacancy with regard to the type of match that is formed. The
potential unemployed workers they can match with differ along the health dimension —
they could either be susceptible or recovered. In addition, there are two possibilities from
the perspective of the production being in either the locked or unlocked sectors. As such,
there are five terms in the value to a vacancy: the flow cost x as well as terms capturing



these four possibilities

ul
thL = —K+ qﬁ{(l — 5)ﬁﬁ//max{55(a,x,0; L),Sft(a,x, 1;L),0}dF?(a, x)
stUL rt
+el(1 —5)7(1 —x //maX{SSt(a 2,0:0), SE (a2, 1: U, 0}dF?(a, 7)
st
rol(1- ) / / max{SE (a, 2: L), 0}dF?(a, 7)
+¢{(1 —S)UT(l - //maX{Srt(a z;U), 0}dF?*(a, x)

where u%, and ul, denote the measures of unemployed workers with susceptible and recovered
status under the lockdown model.

2 Dynamics of the lockdown model

This section details the dynamics of the measures of workers in differing employment, age
and health statuses in the model with lockdown. Measures with L superscripts correspond to
those under lockdown, while those without are from the baseline model, (out of lockdown).
Assume that the lockdown commences at an arbitrary time denoted by ¢. At this point,
measures are divided-up as follows. The measures of the three different health statuses for
unemployment will be equal to their pre-lockdown measures

u

g =
&,

~

U,

L
rt

)

Ug
UiF
U7 = Upg

which are the measures of susceptible, infected and recovered respectively. Similarly for the
retired at the time of lockdown’s commencement

L _  _
Ogf = Ost
L __
Ojf = Oit
Orf = Orf

which are the measures of retired people across the susceptible, infected and recovered health
statuses respectively. The measures of employed workers of a given health status and match
state (a, ) will be split such that fraction m will be placed into the locked sector while



fraction 1 — 7 will be in the unlocked sector as follows

eosi(a, 3 L) = megg(a, o)
eia, 7;U) = (1 — m)egs(a, )
el (o, r; L) = meygi(a, 1)
gl 730) = (1 - m)er(a,2)
el(a, ;L) = mei(a, x)

eri(o, 2 U) = (1= 7ese(ar, 2)
ek, ;L) = meii(a, x)

e, ;U) = (1 = m)ei(a, z)

which respectively represent the measures of susceptible workers at home in locked jobs
and unlocked jobs, of susceptible workers away from home in locked and unlocked jobs, of
recovered workers in locked and unlocked jobs and infected workers in locked and unlocked
jobs. From the point where the lockdown commences, these measures evolve endogenously.

The laws of motion for the retired are

osLt =7 <u5Lt+//eOLSt(04,:U; L)dadw+//egst(a,x;(])dadx)
1 ( [ [ etutaads+ [ [ ety U>dadx) — (B + )0

o'l-Lt =7 (uiLt—l—//eiLt(a,:c; L)dada:+//eﬁ(a,:c; U)dad:v)

+ MG lhol — (vr(€) + X + po)ol;

o5 =1 (Ué+//€£t(a7$;L)dadx+//eft(a,a:; U)dadm)

L L
T Po0it — XOpy

10



while those for the unemployed are

:w+5//eOLSt(04,x; L)dadx—l—é//efst(&,x; L)dadz
+5//e€st(a,x; U)docdx+5//efst(oz,x; U)dadzx

+ 1///egst(a,x;L){SoLSt(a,x;L) < 0}dadz + V//efst(oz,m; LY{SE, (o, z; L) < 0}dadz
+ u//eést(a,a:; U){SE (o, ;U) < 0}dadx + V//efst(a,x;U){SlLst(a,x; U) < 0}dadx

. //{s (0,2, L) > 0}d*F(a, )ﬁt—gbf(l—w)//{SsLt(a,x,U)ZO}sz(a,x)usLt

L
>\0 gltust nust

uk :5//eﬁ(a,x;L)dadfn+5//eft(a,x;U)dadx

+ V//el-Lt(oz,x; LY{S(a, z; L) < 0}dadx + V//eft(oc,x;U){Sft’(oz,x; U) < 0}dadzx

Angtust (Py + "Y(giLt) + 77)%12

uk :5//eft(a,x;L)dadx+5//eft(a,x;U)dadx

+ V//eft(a,x;L){Sﬁ(a,a:; L) < 0}dadz + V//eft(a,x; U){S5 (e, 7;U) < 0ydadz
+ pyul; — (/bfﬂ//{Sft(a,x,L) > 0Yd*F (o, z)ul, — ¢F (1 — w)//{Sﬁf(a,aj, U) > 0}d°F(a, v)uk,

11



For the employed workers, we track measures across the different match characteristics and
lock statuses. For measures of susceptible employed, the equations are as follows.
€gst (3 L) = mugpy {Sg (. w5 L) > 0H{Sg(e, 2, 1; L) < Sg(a, 2,05 L)} f(ev, z)
— (6 + n)ega (e, z; L) — vegy (o, z; L){Sg(a, 2,05 L) < 0}
—veb (o, D){Sh (o, z; L) > 0S5 (e, 2,1, L) > SE(a, 2,0, L)}
+vel (o, z; D){S% (o, v L) > 0M{SE (v, 2,1; L) < SE(a, 2,0, L)}
- eOLst(a, Z; L))‘osz%
coula, o U) = (1= mugey {Sg(a, :U) = 0H{S5(a, 2, 1U) < Sg(a, 2, 0;U)} (o, )
— (0 +n)et (a,x;U) — vel,, (o, z; U){SE(a, 2,0, U) < 0}
—veb (o, x; U SE(a, 2;U) > 0H{S% (v, 2, 1;U) > SE(v, 2,0, U)}
+vek (o, z; U){SE (o, 2;U) > 0M{S% (v, 2,1, U) < SE(av, 2,0, U)}
— egu (0, 3 U)AG Gt
evula, @ L) = mugdy {Sg(a, o3 L) > 0H{Sg(a, 2, 1; L) > Sg(a, 2,05 L)} f(a, )
— (0 4+n)el,(a,x; L) — vek (o, x; L){SE(a, 2, 1; L) < 0}
—vek (o, z; D){S% (o, 2; L) > 03{S% (v, 2, 1; L) < SE(v, 2,0, L)}
+ veos (o, 3 L){S% (o, 2 L) > 0S5 (e, 2, 1; L) > SE(a, 2,0, L)}
— ety(a, 23 L)AG
erg(a, a3 U) = (1= mugey {Sy(a, a3 U) > 0H{S5(a, 2, 1;U) > Sgi(e, 2,0;U)} f(a, )
— (6 +mery(a, 7;U) — very(a, o U){ S (e, 2,1, U) < 0}
—vek (o, z; U){SE (o, 2;U) > 0M{ S5 (v, 2,1, U) < SE(av, 2,0, U)}
+veb, (a, z; U){SE(a, z;U) > 0}1{S%(a, 2, 1;U) > SE(a, 2,0, U)}
— ety a3 U)AF + M) 6.
For the measures of infected employed, the dynamics evolve according to
e, @ L) = egy (o, o3 L)AGE; + evy(a, @5 L)) — veg (o, x; L){Si(a, 25 L) < 0}
— (84 py +(05) + e, 25 L)

ezt(oz x,U) = eost(a T U))\Lﬂﬁ +618t(a x; U)(AL + M\ )éft Zt(a x; U){Sft(a x;U) < 0}
— (64 py +(5) + nefi(a,z;U).
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The measures of employed that are recovered evolve as follows

érilona; L) = mupd{ Syi(e, w3 L) =2 0} f (0, @) + pyesi (e 5 L) — (6 +m)epy (@, 25 L)
—ver(a, ){ Sy, 2 L) < 0}

e, 2 U) = (1= mugdy{Sy(a, o;U) = 0} f(a, ) + pyeji(a, 2;U) = (6 +n)eyy(a, 23 U)
—veli(a,2){S5 (e, z;U) < 0}.

Finally, denote the time where lockdown ceases by ¢. At this time the measure of unemployed
of each status for non-lockdown are equal to their lockdown level as follows

_ L
Ugt = usf
_ L
Uip = Uy
_ L
Upp = urf

for susceptible, infected and retired respectively. Similarly, for the three health statuses of
retired workers

_ L
Ost = Osf
_ L
Oit = O
_ L
OTtA - OTtA'

Lastly, for each employment health status and idiosyncratic match state, the measures of
locked and unlocked matches are summed to together as follows
osi(a, x) = e (o, z; L) + e (o, z;U)
st 0st\ 0st\ % b

elsf( 73:) = efsf(aa x; L) + elLsf(a> x; U)

(a,z) = (o, ;L) + el(a, z; U)

(o, 2) = eji(@, x; L) + eji(a, 2;U)
which are for the susceptible employed working at home and away from home, the recov-
ered and infected respectively. From time ¢ onwards, the measures evolve endogenously as
described in appendix A.2
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3 Wages under laissez-faire

Recovered individuals
For a recovered individual, an arbitrary wage leaves the employer with value equal to:
(r+d+nJu(w,a,z) =pla,z,1) —w

+ v ((1 = B) max{Sy(a,x),0} — Ju(w, o, ) + Jpe(w, a, )
Re-arranging terms, and substituting in the Nash splitting condition, J.¢(w,a,x) = (1 —
B)S(a, x), we get the following wage function for recovered employees:

wpe(o, ) = pla, z,1) + v(1 — ) max{S,(c, x),0}
—(r+3+n+v) (1= B)Su(a,z) + (1 = 5)Su(a, z)

Infected individuals

The infected never start new jobs (by assumption) and inherent their previous wages and
are on sick leave. However, they can be hit by re-negotiation shock. Again for arbitrary
wage,
rdip(w,a,z) = —w + p (Ju(w, o, x) — Jy(w, o, ) + (v(lyr) + 0 + n)(—Ju(w, o, ))
+v((1 = B)max{Sy(a,z),0} — Ju(w, a,z)) + Ju(w, o, x)
re-arranging terms, and substituting again in the Nash splitting condition, Jyu(w,a,x) =
(1 — B)Si(a, z), we obtain:
wi(a, ) = pd(w, o, x) + v(1 — ) max{S;(a, x),0}
—(r+p+7l) + 6+ n+v)(1 = B)Su(w, ., z) + (1 — B)Su(w, o, x)

There is a unique solution as derivative of lhs is negative. But it could be negative if
component independent of wage is negative (and large). Since:

(T + 0 + n + V)th(wit(av ZL‘), a, [L') = p(OZ, xz, ]-) - wit(av l’)
+ (1 — B) max{Sy(a,z),0} + Joy(wi (e, ), o, )
then substituting:

r+d+n+v+p p
= pla, z, 1) +
r+d+n+v r+d+n+v
p .
+ ————— Jnu(wula, z), o, x
o

—(r+p+liu) +0+n)(1 = B)Sula, x) + (1 = §)Su(a, x)

pr(1—p)
r+o+n+uv

wi(a, ) max{S,(«a, z),0}
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Re-arranging terms, and using the Nash splitting condition, J,.(w, «,z) = (1 — 8)S.(a, x),
we get a final expression for the wage of infected employees:

p pv(1—f)
[ ) - ) 7]- ST ) )0
wit(, ) T+5+n+y+pp(ax )+T+5+n+y+pmax{ +(a,z),0}

_rHodn )it o all) 2040) g gg i g
r+0+n+v+p

p .
1- Sr )
r+o+n+v

r+o+n+v+p

(1-— 6)Sz-t(oz,x)

Susceptible individuals

For arbitrary wage w, the value of a job (a,x) being worked from home by a susceptible
individual is equal to:

(r+0+n+ Xl +v)Js(w, o, x,0) = pla, 2,0) — w + Aolir Jir(w, @, )
+ v(1 — B)max{Sy(a,z,0), Se(a, z,1),0}) + Jo(w, o, z, 0)
Re-arranging terms and using the Nash splitting conditions Jg(w, o, z,0) = (1—3)Ss(w, a, x, 0)

and Jy(w,a,z) = (1 — 5)Su(w, a, x), we can write the wage equation for susceptible em-
ployees only working at home as follows:

wse(a, z,0) = pla, x,0) + Aolir(1 — B)Sit(a, x)
—(r+d+n+Xly +v)(1 — B)Ss(a, x,0)
+ v(1 — B) max{Sq(a, z,0), Ss(a, x,1),0}) + (1 — 5)Sst(a,a:, 0)

Similarly, the wage equation for susceptible employees working away from home is equal to:

ws(a, 2, 1) = pla, z, 1) + (Ao + M )it (1 — ) Si(c, )
—(r+d+n+ Ao+ M)y +v)(1 — 5)Ss(a,x,1)
+ v(1 — ) max{Ss(a, z,0), Sy (e, 2,1),0}) + (1 — 5)Sst(a,as, 1)
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4 Wages under lockdown

Recovered individuals

During lockdown, the job value for a match that is unlocked with a recovered individual at
an arbitrary wage w is equal to:

(r+0+n+v+AN)Ji(w,a,zU0) =ple,z,1) —w+v(l = ) max{S}(a,z;U),0}
+ A (w, a, x) + ert(w, a,z;U)

Re-arranging terms and substituting in the Nash splitting condition, J5(w, o, z;U) = (1 —
B)SE(a, x; U), the wage for a recovered individual in an unlocked job during lockdown takes
the following form:

wyi(a, ;U) = pla, 2, 1) + v(1 — B) max{SE(a, z;U),0} — (r + 6 +n+ v+ A)(1 — B)SE(a, x;U)
+ A= B)S(a,z) + (1 = B)Spi(a, 23 U)

Similarly, the wage equation for a recovered individual in a locked job is equal to:

wy(a, ;L) = p(a, 2,0) + v(1 — B) max{SE(a, x; L), 0} — (r + 0 +n+ v+ A)(1 - B)SE(a, x; L)
+ A1 = B)Swla, ) + (1= B)Sri(e, w; L)

Infected individuals

The infected never start new jobs (by assumption) and are on sick leave. They inherit their
previous wages and their lockdown status. However, they can be hit by re-negotiation shock.
Given the job value for a locked match with an infected worker at an arbitrary wage w, we
can write:

w = p,Jh(w,a,r; L) + v(1 — B) max{Sk(a,z; L), 0}

+ ATy (w, o, ) + JE(w, a, 25 L) — (14 py + 7 (Cie) + 0 + 0+ v+ A)JE(w, a, ;L)
Substituting again the Nash splitting condition J%(w,a,x; L) = (1 — 8)Sk(w, o, x; L), we
get the following wage equation for an infected worker in a locked match:

wig (o, x5 L) = py(1 — B)SE (v, x5 L) + v(1 — B) max{S}(c,z; L), 0} + A(1 — B)Si(c, z)
—(r+py + 7, (L) + 6+ 0+ N1 = B)S(a,x; L) + (1 — B)SE(a, ;L)

Similarly, the wage equation for an infected worker in an unlocked match during lockdown
is equal to:

wir(a, 7;U) = py(1 = B)Sh(a, z;U) + v(1 — B) max{Sk(a,z;U),0} + A(1 — B)Su(a, )
—(r+py + 9 (le) + 5+ 0+ A)(1 = B)Si(a,2;U) + (1 — B)Sk(ev, 2;U)
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Susceptible individuals

An arbitrary wage w to a susceptible individual leaves the employer in a locked match with
the following value:

rdE(w, o, z,m; L) = p(a, ,0) —w + (6 +n)(V¥ — Jh(w, a,x,m; L))
+ /\OLyfit (Jz%(w, a,x; L) — JSLt(w, o, x,m; L))
+v (1= B)max{S5(a, z,0; L), Sg(a, x,1; L), 0} + V. — Ji(w, ,w,m; L))
+ AT (w, o, z,m) — JE(w, o, x,m; L)) + Jo(w, a, z,m; L)

for m € {0,1}. Imposing free entry V' = 0, and re-arranging terms, we get:

w=pla,z,0) — (r+d+n+ )\gy&t + v+ AN JE(w, a,2,m; L)
+ Aoy lin iy (w, 0, 7 1)
+v(1 = B) max{S%(a,z,0; L), S (e, 2, 1; L), 0}
+ Adg(w, o, z,m) + Jo(w, o, x, m; L)

Substituting the Nash splitting rule JZ(w, o, x,m; L) = (1 — 8)SE(cv, x, m; L), the wage for a
susceptible worker with a contractual m € {0, 1} in a locked match can be written as follows:
ws(a, z,m; L) = p(a,z,0) — (r+6+n+ )\gyéit + v+ A1 —pB)SE(a, z,m; L)

+ A5 (1 — B)Sk(c, a5 L)

Oy
+v(1 = B) max{S%(a, z,0; L), Si(a, x,1; L), 0}

) Mst

+ A1 — 8)Ss(a, x,m) + (1 — B)Ss(a, x,m; L)

Consider now an unlocked match. An arbitrary wage w to a susceptible individual leaves
the employer with the following value:

(r+064n+M,lu+v+ANJ5(w,o,2,0;U) = pla, 2,0) — w+ A5, laJf; (w, a, 23 U)
+ v(1 = B)max{SE(a,z,0;U), S (v, 2,1, U), 0}
+ AJg(w, a, x,0) + Jo(w, o, 2,0, U)

when m = 0, and with a value equal to:

(r+d+n+ ()\OLy + Ayl +v + AN JE(w,a,2,1;,U) = pla,z,1) —w
+ (A + Ay (w, 0,25 U)

+ (1 — B)max{S(a,z,0;U), S (v, 2, 1; U), 0}
+ AJg(w,a,x, 1) + Jst(w, a,x,1;U)
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when m = 1. Again, imposing free entry VI = 0, substituting the Nash splitting rule
JE(w, a2, m; U) = (1 — B)SE(a, z,m; U) and re-arranging terms, we get a wage equation
for a susceptible worker in an unlocked match working only from home during lockdown
equal to:
wst(au Z, 07 U) = p(Oé, Z, O) + Agy&t(l - B)Sz[t/(au €, U)
= (r 040+ Mg lie + v+ A)(1 = B) S5 (e, 2,0;U)
+v(1 — B) max{S%(a, x,0;U), SL(a, x,1;U), 0}

+ A1 = 5)Sst(a, z,0) + (1 — B) S, x,0; U)

and a wage equation for a susceptible worker in an unlocked match working also away from
home during lockdown equal to:

wg (o, z, 1;U) = p(a, x,1) + ()\gy + M)l (1 — B)SE (e, 2, U)
—(r+d+n+ (/\OL + Ayl + v+ A)(1 — B)Sft(a,x, 1;U)

Yy

+ (1 — B)max{S%(a,z,0;U), Sk (v, z,1; U), 0}

+ A1 = 5)Sg(a, 2, 1)+ (1 — 8)Sg (v, x, 1;U)
References

BRADLEY, J., A. RUGGIERI AND A. H. SPENCER, “Twin Peaks: Covid-19 and the Labor
Market,” mimeo (2020).

18



